A 1.00-km steel railroad rail is fastened securely at both ends when the temperature is 20.0°C. As the temperature increases, the rail begins to buckle. If its shape is an arc of a vertical circle, find the height h of the center of the rail when the temperature is 25.0°C. You will need to solve a transcendental equation.
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And we must solve the transcendental equation 

Homing in on the non-zero solution gives, to four digits, 

Now,

[image: image4.png]This yields h=454m , a remarkably large value compared to AL =550 cm.




